Efficiency vs P,

— 0.1
o o

2 0.09F
> E
2 0.08F
] E
sk
o =
0.06F-
0.0+ riseoeeeeeoe oo e
0.04F -+ e SRS e
0.03F : : :
0.02F -+ #esieeeenne SRS e
0.0

.................................................

.................................................

.................................................

oF

Ratio

12f- T

I 8

—=— DQMstep3 ZToEE_CKF
—e— DQMstep3_ZToEE_default
—+— DQMstep3_ZToEE_defaultNEWT

................................................

Ratio

rn*

Efficiency vs ¢

o0.05¢
% F:
2.045F:
S E
$0.04F
(5] E
£9.035F
T =

0.03F
0.025F

0.02F

0.015F -t b b - F by 1 g
0.0LFFTH ¢ § - 414
0.005;

Ratio
e
cl T ICJII




	Contents
	Page 1


